CIELABU2 standard lightness L*

L* YocmL*w - nc=100,

L* CiELABu2 B9 (Y/Y) Y259 (¥,=18, Y, /100<Y<=Y, )
L* N(3.6)=22,L* ,(18)=50,L* (90)=103

log[L* /L* ]=0, m,;=0,46
application
range
1,518
1Yy =90

Yn=3.6

Iog(AY)
AY

CIELABuU2
tristimulus value difference

Yoc=L* w nc=100,
L* CiELABu2 B9 (Y/Y) Y259 (¥,=18, Y,/100<Y<=Y, )
log(dY) = (1/2,5) log[2,5¢,/58)] + [1-(1/2,5)] log¥)

v
* =50, dY,=4,27, dY,/Y,=0, 2377

application
range
'v,=18
1 Yu=90

log (AY/Y) CIELABU2
_ tristimulus value sensitivity
SOV Yoc=L*w - nc=100,
L* CiELABu2 B9 (Y/Y) Y259 (¥,=18, Y,/100<Y<=Y, )
log(dY/Y)= log[2,5(Y,/58)] - (1/2,5) log{/Y,,)
= (1/2,5) log[2,5¢,/58)] - (1/2,5) log{)

= & . application
* =50, dY,=4,27, dY,/Y,=0,2377 1 ~ <. [8NG€

log (Y/AY)
C,=(Y/AY)

CIELABuU2

tristimulus value contrast
Y=L w nc=100,

L* CiELABu2 B9 (Y/Y) Y259 (¥,=18, Y,/100<Y<=Y,)
log(Y/dY)= - log[2,5/,,/58)] + (1/2,5) log{/Y,)

= - (1/2,5) log[2,5(,/58)] + (1/2,5) logy)

* =50, dY,=4,

application
range

ly,=18
5 log

- oo W\

Yn=3.6

L¥/L* CIELABU2 relative standard lightness L*/L*

LHIL* YocmL*w - nc=100,

L* CiELaBu2 59 (Y/Y) 259 (V=18 ¥,/100<Y<=Y, )
L*\(3,6)=22,L* ,(18)=50,L*,(90)=103

Yy=90

log (A YIAY,)
AYIAY,

CIELABuUZ relative
tristimulus value difference

YocmL*w  nc=100,
L* CiELaBu2 59 (YY) 259 V=18, ¥,/100<Y<=Y, )
log(dY/dY,) = [1-(1/2,5)] loglf/Y,)

* =50, dY,=4,27, dY,/Y,=0,2377 _
log[(dY)(dY),]=0, m=0,60 .~ =
o ]

1

1

application
range

Y,=18
Y=90

log [(AY/Y) I (AYIY)] CIELABuU2 relative
tistimulus value sensitivity

SSu=@YMIBYN)y . =\, - =100,

L* CieLaBuz 59 (YY) 259 V=18, Y,/100<Y<=Y, )
logl(dY/)I[dYY),] = - (1/2,5) loglIY,)

log[(dY/Y)(dY/Y),]=0, m,=-0,39
* (=50, dY,=4,27, dY,/Y=0,2377

YN=3.6 | Yw=90

log [(Y/AY) I (YIAY),] CIELABU2 relative
tistimulus value contrast
CrlCr=(YIAVI(YIAY)y v 21'% > 100,

nc~
L* CiELABu2 59 (Y/Y) 259 (V=18 ¥,/100Y<=Y, )
logI(Y/dY)/(Y/dY),] = (1/2,5) loglY/Y,)

YN=3.6  Yw=90




